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e w@ien §EN n O e 0 g
Tt atfusay GE il &

(1) n? | (2) 2n®

(3) n+/ (4) m+17?

fyefafea § 9 Sk o1 %97 e feon

% fore weét @ & 7

(1) s fetol Feie ® o sisht IS
! HIT T A E

(2) Torg v o=y &1 @ srqatefd i
T feeor wt ferem o T W € 1

| (3) Fute faerul & wwgwr, Wi fRor
Sferm % getegier & yeie Te Suid
i =t vl W #a € |

(4) g froit F el FoT E §

| = 4 % Ty et Tk whi HEA Bt
(1) 4 @ 3
(3) 7 4) 9

Z= 120mﬁﬁﬁmma¢mﬁmwﬁ%
e wREr # gl =T 2

(1) o IRErR
(2) @R 7T U
(3) P
(4) &R gl

g gU Yifcares T T Hel HHE
(1) P<Si<Be<Mg<Na
(2) P<Si<Mg<Na<Be
(3) Na<Mg<Be<S$i<P
(4) P<Si<Na<Be<Mg

frafefaa & @ S99 T 1 S0 A
Tl BT E

(1) p-ewH (2) dz2-here

(3) p,TEH (4) 1s-FH

“The maximum number of electrons in

the shell with principal quantum
number n is equal to

(1) n? (2) 2n?

(3) nl 4y (n+1y

Which of the following statements is

incorrect for Cathode rays ? :

(1) The Cathode rays start from
cathode and move towards the
anode,

" (2) In the absence of electncal or

magnetic field, these rays travel in
straight lines.

(3) The characteristics of cathode
rays depend on the material of
electrodes and the nature of the
gas present in the cathode ray
tube.

(4) Cathode rays consist of negatively
charged particles.

The total number of orbitals for ! = 4
will be

(1) 4 (2) 5

(3) 7 {4): 9

The element Z = 120 would be placed
in which family of periodic table ?

(1) Halogen family

(2) Alkaline earth metals

(3) Noble gases

(4) Alkali metals

The correct order of increasing
metallic character is

(1) P<Si<Be<Mg<Na

(2) P<Si<Mg<Na<Be

(3) Na<Mg<Be<Si<P

(49) P<Si<Na<Be<Mg

Which of the following orbitals does not
have angular node ?

(1) p, - orbital
(3) p, - orbital

(2) dz? -orbital
(4) 1s - orbital
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8.

10.

11.

12.

13.

05

wiela faead # GH W CoCly4NH,,
anfyr & AgNO, % &Y T% HieT AgCl &
SR AT ¥, 9 U B T Gaeenar
T & 2

(3 (2) 4

"(3) & 4) 6

 Nb 1 ST T o g

(1) 4d*, 5 (2) 4d5, 55

(3) 4d3, 562 (4) 4d°, 552
st foeram & frgais smam o deeE
SOl WY TMOAT FifE, A T WA
HHIEH 25 |

(1) +/7 BM (2) \/5(5+1) BM

(3) 5G+2)BM (4) 5 BM

frefafiga & @ 9 @ g SO
HHEEET SETee el T § 7

(1) {P(NH,),CL,]

(2) [Ni(CO),]

(3) [CO(NH3)3(N02}3]

(4) [CoCly(en),]

frafafea & € feg 0 o <9 wa 9Ue
T?
(1) N, Cl, (2) 02 F,

(3) NO%, CO (4) 0y, N,
As F1 Si § 3rqfyor weemr &

(1) n-WHR F1 =

(2) p-WHR I HAE

(3) iR EETeTH

(4) I d A B el

Tb %1 AT SRR fermarer &

(1) 4, 652 (2) 4f7, 5d!, 6s*
(3) 4f7, 652 (4) 4f14, 652

10.

11.

12.

13.

In aqueous solution 1 mole of
CoCl,-4NH, gives 1 mole of AgCl

precipitate with excess AgNO,, then
what is the secondary valency of metal ?
(1) 3 (2) 4
3) 5 (4) 6

The outer electronic configuration of
Nb is )
(1) 4d*, 5s!
(3) 4d3, 552

(2) 4&5, 550
(4) 4d°, 5s?

Calculate the magnetic moment of
divalent ion in aqueous solution, if its
atomic number is 25.

(1) \7BM (2) \5G+1)BM
(3) V5G6+2)BM  (4) J5BM

Which of the following complexes
does not show geometric.isomerism ?

© (1) [PHNH,),Cl,]

(2) [Ni(CO),]

(3) [Co(NH;)5(NO,),}
(4) [CoClyen),)

Which of the following péir has same
bond order ?

(1) N,,Cl,
(3) NO*,CO

(2) O, F,

Doping of As with Si is called
(1) n-type semi-conductor
(2) p-type semi-conductor
(3) tintrinsic semi-conductor
(4) None of the above

The outer electronic configuration of
Th is

(1) 4f9 65
(3) 4f7, 68

(2) 4f7,5d!, 6s?
(4) 4f'3, 657
o



14..

15.

16.

17.

18.

19.

frfafea fem d=FEe d 14 faamg £ 2

(1) La* (2) et

(3) Yb* (4) Yb**
?ﬂﬂﬁﬁmu@ﬁmgé%aﬁqﬁmﬁ?ﬁ-
B9 s

(1) EeHHT g

(2) wEHias Ui

(3) tfestae ueg

(4) &R 7 uRg

frefafes 4 & &9 @ a= +7
HierfferToT Frae wefte Sar & ?

(1) Th (2) Pa

3 U (4) Np |
frafafeges & & =97 @ s w=a
FHFHERE & ?

(1) ce*

(2) Eu?*

(3) Yb**

(4) W Ce**, Eu?*, Y2t

feplt arfafipan 61 o Pram &

=T = K[A] [B]?

[A] 3 [B] Ft & A1 w4 X arfara
AT BT A FHeT T SR 7

() 2

(2) 4

(3) 8

@) 16

Frerfas & @ 99 W o Y@ B,

stfaferanatt & forg = =&t & 9
(1) m[R] T t % 7 WA V& AE ¥ |
(2) [R] W t % Teg TR Y e ¥ |
(3) K1=[R],~-[R]

[R],

@ %=

14,

15.

16.

1%

18.

19.

Which of the following lanthanoid ion
has f !4 configuration ?

(1) La** 2y ce*

(3) YB3* (4) Yb**

Mischmetal alloy consists of ~ 95% of
which metal ?

(1) Transition metal

(2) Lanthanoid metal
(3) Actinoid metal

(4) Alkaline earth metal

Which of the following elements
shows +7 oxidation state ?

(1) Th (2) Pa
() U (4} Np

Which of the following ions is strong
oxidant 7

(1) Ce*
(2) Eu?*
(3) Yb**
(4) All of Ce*, Eu?*, Yb2*

The rate law for a reaction is
rate = K[A] [B)?
on doubling [A] and [B], the rate of

the reaction shall increase by a factor
of '

(1) 2
2) 4
(3) 8
4) 16

Which of the following statements is
not correct for zero order reactions ?

(1) Mm[R] vs tis straight line plot.
(2) [R] vstis straight line plot.
(3) Kt=[R],~[R]

[R],

4) =%
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20.

als

22,

23.

24.

25.
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(3) MoTHE W

e e ) s 3, 99.9% SRR

ot B e ey () W R

TRk e ?
(1) 27w
(3) 7T

(2) 5T
(4) 107

frefefag § T 9§ YT TEEYiE &
o e @ ¥ 2 |
(1) Te IF[EHA0E & |
(2) s'ﬂfr afeitgor = TERdl 3= et

_{3)aqﬁmﬁwﬁ;f?—mﬁtrmm$

B |
(4) g% AfafaiTe wHka e ¢ |

[CG(NH::,}sC!]SDq_ LC)
ATEH E

(1) 3HEAT Feegat
(2) =gt T
(3) IT-TedgST gEEEE
(4) i geveEEt

O/W T % e wgE ! He
(1) e

(2) el e % UehlRrel

(3) WK T Fedta W

(4) =g Tt 3 Rt g % e

frefofaa o @ 39 § gW F1 d2AEs
HHad F FROT FBR OO GAA T
B ?

(1) Zr e Hf (2) NbTH Ta

(4) YUWPt

aft 25 °c W fedt @ ¥ 200 T

IAERE W I foems # Wi #H9
5 % 1073 g1 ot geee §R1 Fram feriw &
(1) 4x 10028 () 1.0eR
(3) 25x 10%eR (4) 2x10*TW

[Co(NH,)sS80,]C/

20.

21.

23.

24.

| 2s.

In a first order reaction, the time
required for completion of 99.9% is
how many times of half-life (t,,) of the

reaction ?
(1) 2times (2) .5 times
(3) 7 times (4) 10 times

Which of the following statement is
incorrect for chemisorption ?

(1) Itis irreversible.
(2) Enthalpy of adsorption is high.

(3) Low temperature favours
adsorption.

(4) 1t is highly specific in nature.

.+ [Co(NH,)5C1] SO, and [Co(NH,)s80,] C/

are
(1) ionisation isomers.

© (2) linkage isomers.

(3) co-ordination isomers.
(4) geometrical isomers.

The principal emulsifying agent for
O/W emulsions is/are '

(1} Lamp black

(2) Long chain alcchols

(3) Natural and synthetic soaps

(4) Heavy metal salts of fatty acids

Which of the following pairs does not
have nearly same size due to
lanthanide contraction ?

(1) Zrand Hf (2)° Nband Ta
(3) MoandW (4 Y and Pt

If at 25 °C, at a vapour pressure of

200 Torr of a gas its mole fraction in

solution is 5 x 1072, then its Henry’s
law constant is

(1) 4x104Tor (2) 1.0 Torr

(3) 2.5% 10-5 Torr (4) 2x 10* Tort
o




26.

27.

28.

29,

30.

31.

32.

suiffan & B9 @ grsar w9 |
s g 2

(1) SoHHEA fe

(2) TieT 3

(3) HieRar

(4) T

aEEUSHE W W QA %
Tergardt % sou= %1 a9 & @

(1) 60°C 2) 718°%C

(3) 88°C (4) 101 °C

KCI % 50% Taaem & e e ew s/
iHUAE

(1 @ 2
(3) 1.5 (4) 1.25

FRicH fetis K, # @8
(1) K mol"! (2) kg mol-!

(3) K kg mol (4) K kg mol™!

T, SgeTRl T 3 FESuiel & HieR
T T A Y yeterd 1o &

(1) WRRY 5" '

(2) FGAIH I T

(3) AR F SMRF T

4) femis &1 FaI0q

10 atm =& 9X ot 3mmeet A9 % o foey,
A &9 ¥ Fafd 9 99 q% veia @
&, 99 qo §H Pt S 10 fe T @
ST | 39 RO B fopemr = fowar sam & 2
(1) 80L atm (2) 10L atm

(3) 8 Latm 4) 0

et afifmr & e aieds aaeT
Hz{g)-—>2H{g) ,

(1) agare | (2) "l & |

(3) WHTEAL ! (4) 0

26.

27,

28.

29.

30.

31.

32.

Which of the following concentration
units depends on temperature ?

(1) Mass percentage

(2) Mole fraction

(3) Molarity

(4) Molality.

‘At atmospheric pressure ethanol H,O

azeotrope boils at about
(1) 60°C (2) 78°C
(3) 88°C, (4) 101°C

Van’t Hoff factor i for 50% dissociation
of KClis ,

(1 1 (2) 2 :

(3) 1.5 4) 1.25

The unit of eryoscopic constant K . is
(1) Kmol™! (2) kgmol™!
(3) K kg mol (4) K kg mol™!

The method widely used to determine

molar masses of proteins, polymers

and macromolecules is '

(1) Osmotic pressure

(2) Elevation of boiling point

(3) Relative lowering of vapour
pressure

(4) Depression of freezing point

Two litres of an ideal gas at a pressure

-of 10 atm.- expands isothermally into

vacuum until its total volume is 10
litres. How much work is done in
expansion ?

(1) 80L atm (2) 10L atm
(3) 8L atm 4 0

‘Predict the entropy change in

following reactions :
H2(g1 — ZH{g)

(1) Increases (2) Decreases
(3) Remains same (4) 0
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33.

34,

35.

36.

37.

38.

05

(1) SR

Preffie Refex & . Rt Tor
HT?

(2) =

(3) «rg (4) =&
qgHgeiE g U9 27 °C W TF W 59 &
ary 3 oo 8 s et 30 kimol~! @
A T WREd W T A | :
(1) 0.1 JK~! mol!

(2) 100 JK-! mol™!

(3) 100 kJ K™ mol™!

(4) 999 JK' mol™!

?Tﬂﬁqﬁmwmﬁﬁ:lﬁﬁlﬂm

(1) AG<0
(3) AG>0

(2) AG=0
@) AG =1

s difean ddRe ¥ el foem @

ferg- e foman wen § W@ FeAertad

e el dele W o AR 2

(1) co,
() H,

(2) CH,-CH,
(4) CH,CO0"

afirfepan -
Cr,04

10-20 atm
AT
(1 CeH 2
(3) C(H,OH

(2) C,H;COOH
(4) C.H,

fpfetad g Te & ST aTged
? O UE WUT-2-37 WK Bid § 7

(1) 2-=g2M

@) 1M

(3) 2-afreud=

(4) 2,3-TERfe-2-=Ea

33.

34.

35.

36.

37.

38.

Which of the following parameter is
an extensive property ?

(1) Heat capacity (2) Density
(3) Temperature (4) Pressure

At atmospheric pressure and 27 °C, when
1 mole of a liquid changes to vapour, its
enthalpy change is 30 kJmol™'. Calculate
the entropy change

(1) 0.1 JK 'mol™"!

(2) 100 JK 'mol™!

(3) 100 kJ K-'mol"!

(4) 999 JK~'mol™!

At constant pressure and temperature
the process is spontaneous when

(1) AG<0 (2) AG=0

(3) AG>0 (4) AG =1

Which of the following species is
liberated at cathede, when aqueous

solution of sodium acetate is
electrolysed ?
(1) €O, (2) CH,-CH,
(3) H, (4) CH,COO~
In the reaction :

Cr,04
CHy(CH,),CHy—o2 A

10-20 atm
Ais : '
(1) CiH,, (2) CH,COOH
(3) C,H;0H (4) CH,

Ozonolysis of which of the following
alkenes gives methanal and propan-2-
one ?

(1) 2-Butene

(2) 1-Butene

. (3) 2-Methylpropene

(4) 2,3-dimethyl-2-butene




39,

40.

82 im0 efetEe e ®

Sfvfsearefierr 1 e 9 ¥ ;

(1) CH,CH,CH,CH, Br <
(CH,),CHCH,Br <
CH, — CH, - CH - CH, <

Br
(CH,;),C — Br

(2) (CHy,C-Br< CH, — CH,CH,CH, Br
< CH,CH, - (IJH — CH; <
| Br
(CH;),CHCH,Br

CHiCH, - CH ~ CH; >
Br
(CH,);C ~Br

(4) CH;-CH, - (T‘H - CH, >
Br
(CH,),CH — CH,Br >
(CH,),C - Br >
CH,CH,CH,CH,Br

&ﬁm -
Br -

_-_) I & IR &
KOH
(1) CH, - CH, - CH, - CH - CH,
OH
(2) CH,-CH,- CH,- CH = CH,
(3) CH,-CH, - CH, - CH, - CH, - OH
(4) CH,-CH, - CH=CH - CH,

39.

40.

The correct order of reactivity of
following compounds in S\2 reaction is
(1) CH,CH,CH,CH, Br<
(CH,),CHCH,Br <
CH, ~ CH, ~ CH- CH, <
Br
~ (CH,),C - Br

{(2) (CH;;C-Br<CH,—-CH,CH,CH, Br
<CH,CH, - (?H —CH, <
Br
(CH,),CHCH,Br

(3) CH30H2CH2CHEBI' >
(CH,),CH - CH,Br>
CH,CH, - (IZH -CH, >

Br
(CH,;),C ~-Br

(4) CH,-CH,- (fH -CH,>
Br
(CH,),CH - CH,Br >
(CH,);C-Br>
CH,CH,CH,CH,Br

The major product of the reaction
CH,CH,CH, - (.;H - CH,

Br
Alcoholic
(1) CH;-CH,-CH,~- (lfH - CH,
OH

(2) CH;-CH,-CH,-CH=CH,
(3) CH;-CH,-CH,-CH,-CH,-OH
(4) CH;-CH,-CH=CH~CH,
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41.

42.

43.

44.

05

CH,CHO + CH,CH,CHO (i) NaOH 3
i) A

areifefia # HIT 91 IR H'I('ﬁ') el Bl ?

(1) =qe-2-5¥

(2) 2-Afae =E-2-4a

(3) 2-Afe U=-3-$

(4) =28

Pt Atfel & #m Hiem sfsds
¥ T W5 ST T ¥ ?

(1) CH,CHO

(2) HCHO

(3) CH,CHO

(4) CH,CH,CH,CH,CHO

frefefag § € 99 @ sESwd
FTferan T < ?
(1) c}—l_rCHz-(ﬁ*—CHz-CH3
0
(2) CHJ—(IJH—CH3

OH .
(3) CHy-C-CH,

(4) >c=c
C - CH,

41.

42.

| 43.

44.

The Reaction :

CH, : CHO
B —
Py

(1) Gattermann reaction
(2) Gattermann-Koch reaction
(3) Etard reaction

- (4) HVZ reaction

In the reaction :
CH,CHO + CH;CH,CHO (i) NaOH

_ (i) A
product which is not obtained is
(1) But-2-enal
(2) 2-Methyl but-2-enal
(3) 2-methyl pent-3-enal
(4) Pent-2-enal

Which of the following compounds
does not give red brown -precipitate
with Fehling reagent ?

(1) CGHSCHD

(2) HCHO

(3) CH,CHO

(4) CH,CH,CH,CH,CHO

Which of the following does not give
iodoform reaction ?

(1 CH, - CH, - C - CH, - CH;
0
(2) CHy-CH-CH,
OH
(3) CH;-C-CH,

C-CH,




45.

46.

47.

48.

49,

firisra -
RCH,COOH ()X, / ¥t B
(i) H,0
R= C|3H — COOH FeeTmt &
X
(1) MPV U= aafufsear
(2) FA-BIATS-AfcTeEh sffHar
(3) tewi sfafwar
(4) Tafer sfuafemar

HCN & 4 o @ weifer afe <
Fetiers srfifsmarsier &
(1) CH, - (”: ~ CH,
.0
(2) CH, - CH, - CHO
(3) CH, - CHO
{(4) HCHO

Fretferfa 3 @ = a1 2T G
g7

LY

4) !N\

H
AT SE W Seid Wt weEar §
i et Frefafan =t «ifa @ s
A
(1) 3t (2) #RFH
(3) e 4) IO
=i % TeEgEee uier § Riem
= ioC R

(1) wft ST o sp? el § |
(2) | A W] sp? HHRa § |
(3) e HET IO sp> Wi ¢ |
(4) U HET WA sp? HhiA € |

10

45.

46.

47.

48,

49.

RCH,COOH
(i) X,/Red phosphm‘ush
(i) H,0 -
R~ Cer — COOH is known as
X
(1) MPV reduction reaction.
(2) Hell-Volhard-Zelinsky reaction

(3) Haloform reaction
(4) Wittig reaction

The carbonyl compound which is most
reactive when HCN adds

(1) CHy~C-CH,

0
(2) CH,-CH,-CHO
(3) CH,-CHO
(4) HCHO

Which of the following compounds is

not aromatic 7

M i.U

H
@ @’O
I
@ L)
H

In the process of generation of

* nitronium ion the nitric acid serves as

(1) Acid
(3) Salt

(2) Base
(4) Catalyst

In  electrophilic  substitution of

benzene, the arenium ion has

(1) all sp? hybridised carbon atoms.
(2) all sp? hybridised carbon atoms.
(3) one sp3 hybridised carbon atoms.
(4) one sp? hybridised carbon atoms.
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50.

51.

52.

53.

55.

05

TR wERT § At S Cl, 3] R
Fffirar @ e 1 == §

(1) TASReEl Hfaera st

(2) i il

(3) e wiawm s

(4) et STl

TR S S | srfufear gRT W
e

(1) UveEE =

(2) ARF I

(3) eI

(4) neRT

T Tt %t 1 @ RBC &t geaiud
¥ afig o wiw-AfmEt F AR a2
() faafimk (2) faeafaT e

(3) T, (4 B,

fpafeafaa § @ %9 W Aewgs HA

A R E?
(2) wEE

(1) S
(3) T@FE (4) e

DNA 0] # 9T 3nfer 3obS &
(1) B-D-FRIwE

(2) PB-D-TefIURAR

(3) B-D-Tew

(4) B-D-2-fesirrrEEI

W # B 9 9= tHE oTe &

faftre w9 @ defm & 2
(1) wrefies ST
(2) Toemes =
(3) T ECE
(4) I W
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Under ultraviolet light, the reaction of
benzene and Cl, molecule produce

gammaxane is

(1) Electrophilic substitution reaction.
(2) Addition reaction.

(3) Nucleophilic substitution reaction.
(4) Oxidation reaction.

Glucose on reaction with bromine
water gives

(1) Pentabromo derivative
(2) Saccharic acid

(3} Gluconic acid

(4) n-hexane

Deficiency of which vitamin causes
increased fragility of RBCs and
muscular weakness ?

(1) Vitamin K (2) Vitamin E
(3) Vitamin B (4) Vitamin B,

Which of the following is not .an
essential amino acid ?

(1) Valine (2) Leucine
(3) Alanine (4) Lysine

The sugar moiety present in DNA
molecule is

(1) B-D-fructofuranose
(2) B-D-glucopyranose
(3) P-D-ribose

(4) B-D-2-deoxyribose

Which structure of protein is related to
specific sequence of amino acids ?

(1) Primary structure:
(2) Secondary structure
(3) Tertiary structure
(4) Quarternary structure
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e Feamat x, y @ 2 § T e
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1- PV PY PV
St 57 * 52
—4n?

;)]'2
MfHE—ﬂT 0

AR

_—4n?
= 22 W

(2 Y=

(3) V¥ -

4) V¥ + ¥=0

FffEd & € ®4 W T SifeTr al
T % & & Ty &t 81 & 2

(1) ¥ wag & =ifey |

(2) ¥ aiefe g = ¢

(3) w%aﬁqnﬁﬁﬁmﬁql

(4) j W2 dx dydz=1

= Tig Frenivity ffimfae o
T g B § a9 o fea Ry o e
Feaad wfespor o7 =aq &t 2 :
(1) fogacdts fefa

(2) Imedm I feafy

(3) owitg o et

@) FEH

Poffar & & 25, 2p, s 2p,

vmmﬁqmmﬁ%ﬁmmﬁﬁ%aﬂwﬁ
TS Fhi- T sp? T FETeh el Aal & 2

1 2
(1) TSP2=TT2<*T Yo,
(2) Wsp? \B‘P.,ﬁ \{5 o, V@ 213,

(3) Wsp? -\( v, \@ oy, T
(4) ‘-P‘sp2=ﬁ‘i'2$+$‘{’

Epy
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Which of the following equation is
incorrect for an electron moving in
three directions x, y and z ?

3 . .
(gwen that A = = v)

~ 42

Y Y Y
T

a2 oyr 922 T
— 472

TR
ﬁw~ﬂhm =0

4n21121v N7
h

(M

(2) V2=

3)

(4) V¥ + =0

‘Which of the following properties is

incorrect for the solutions to the
Schrodinger wave equation ?

(1) ¥ must be continuous

(2) ¥ must be finite
(3} W must have three values

+ oa
(4) j VY2 dxdydz=1
As a general rule, if lone pairs occur in
trlgonal bipyramid they will be located
in which position to minimize
repulsive forces ?
(1) Equatorial position
(2) Apical top position
(3) Apical bottom position -
(4) At the centre

Which of the following hybnd sp?
orbital obtained is incorrect after
combining the wave functions of the

2s, 2p, and 2p, atomic orbitals ?

. 1 L R
) W= - W,

1 1 ]
p S — —
(2} l‘FSp "\{3 1{"234"\}3 ‘Psz-l-ﬁ qup},

1

1 1
(3) ‘I’Sp'z:_\/a 1F25+‘\)r6 \PZpJ. _,\E ?2[1:,

. 1 2 .
o
@) Yo' = ¥ Yoy,

05
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S(3) -08

The shape of the molecule is not
determined by

(1) o bonds

(2) mbonds

(3) lone pairs

(4) All of 6 and 7 bond and lone pairs.

Which of the following is correctly
matched ?

Species Shape Bond order
(1) NOj Linear 1.33
(2) CO, Linear 1.5
(3) N V —shaped . 2
(#) O .V —shaped 1.5

The valence bond theory for transition
metal complexes explains :

(1) Shape and stability of complexes.
Colour of the complexes.

(3)
(4)

Electronic spectra of the complexes.

Variation of magnetic property
with temperature.

The crystal field stabilisation energy in
terms of A, for d® configuration of

metal ion in high spin octahedral
complex is

(1) -0.4 (@2) -06

@) -1.2

A pattern of increasing ¢ donors is
(1) halide donors > O donors > N
donors > C donors

(2) halide donors < O donors < N
- donors < C donors

(3) O donors < halide donors < C
donors < N donors

(4) O donors > halide donors > C
donors > N donors
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frofofaa g #RE ® aﬂﬂan"rqﬁ:nm
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THHE FFA ® d° FEA W YEA
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(1) 4.9 BM (2) 0BM

(3) 1.73BM  (4) 283 BM
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TRH L H TF WY Sigt W A ien
i J T gl & B o o ¥ W
M whiEfafga T S a Uy T & 9
(1) J=L-8 @) J=S-L

(3) J=L+S (4) J=LS

=1 a9 W Eut @ e amget (BM)
fepAferfaa & | Tbeeh wita € 2

(1) 0 @1

(3) 2 4) 3

Ce3t 3T Yb3, UV & ¥ weer srawnyer
Wi wa ¢ | Foafafga & @ w9 @
HIOT T FIT T T &2

(1) 4@ 54 o TshHoT T T |

(2) al=1

(3)3=ram=ﬁﬁsﬁéﬁm’f‘=ma=mm_

AT ) g @ HeT § )
(4) f-d e faga ¥ |
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The magnitude of A, depends on

which of the following factors ?

(1) The nature of the ligands.

(2) The charge on the metal ion.

(3) Whether the metal is in the first,
second or third row of transition
elements.

(4) Dependsonall 1,2 and 3.

Significant distortion of the octahedral

shape is caused by

(1) symmetrical
d-electrons.

(2) -asymmetric filling of the e_ orbitals.

(3) asymmetric filling of the t,
orbitals. B

(4) symmetric filling of the tzg orbitals.

of

arrangements

The spin only magnetic moment in
strong ligand field of d® ion of
octahedral complex is

(1) 49BM (2) 0BM
(3) 1.73BM (4) 2.83 BM
In - the lanthanides, the spin

contribution S and orbital contribution
L couple together to give new
quantum number J. Which of the
following relation is correct when shell
is less than half full 7 -

(1) J=L-S  (2) J=8S-L

(3) J=L+8 (4 I1=LS

At low temperature, the magnetic
moment (BM) of Eu’* is close to
which of the following ?
() 0 2) 1
(3) 2 4) 3

Ce** and Yb3* show strong absorption

in UV region. Which of the following

reasons is not correct ?

(1) transition occurs from 4f to 5d.

(2) al=1.

(3) promotion of electrons in these ions
is difficult than for other ions.

(4) f-d peaks are broad.

05



71,

g i

73.

74.

75.

05

[Ce(NO,), >~ H Ce i ITREHEH &
3

(1) 4
(3) 10

.2 6
(4) 12

Mg[Th(NO,),] ¥t i e &
(1) F=HASHY

(2) Trepiviia

(3) faerrerr

(4) =t wfafirar

FHter faeraw § g9 ReW e W

PSEFREA TFT nmr WEMEWM H
s gia (e afvds % w0 H
WG Bl & 2

(1) Ce*
(3) Gd**

2) P+
(4) Lu**

T 9 W HIEHE B AW T W
IO foae %1 o Fam g

(1) V=k

(2) V =k [PH,]
(3) V=k [PH,] [W]
(4) V=k [PH,]?

wF uUifae affear 0 24 — TR
& In e o T T e

L1
L T

2) [A] = [A]ge™

IA]) _
(3} & [[A](:J =_

() [A]y=[Ale™

kt
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74.

75.

1
| (1 A A"

The co-ordination number .of Ce in
[Ce(NOs}ﬁ]z‘ 18

(1) 4 (2) 6
(3) 10 “4) 12
The shape of the complex’

Mg[Th(NO,),] is
(1) Octahedral
(2) Trigonal

(3) Icosahedral

(4) Square antiprism

-Diketone complex of which of the
following ions dissolved in organic
solvent is used as lanthanide shift
reagent in nmr spectroscopy ?

(1) Ce* (2) Pr*
(3) Ga* (4) Lu**
The catalytic decomposition of

phosphine on hot tungsten at high
pressure has the rate law

) V=k

(2) V=Kk[PH,]
(3) V=k[PH,][W]
(4) V=k[PH,;]?

For an elementary reaction : 2A — products,
The integrated form of rate law is

ll':r

(2) [A]l=[A]e™

3) m-[&ﬂﬂ =—kt

@) [A]y=[A)e™
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78.

79.

80.

81.

The aspect of successful collision is
(1} Steric requirement '

(2) Encounter rate

(3) Minimum energy requirement
(4) All of the above

Standard molar enthalpy of formation
of which of the following substances is
not zero ? '

(1) C (diamond)

(2) C (graphite)

(3) H,(gas)

(4) Br, (liquid)

The factor P in rate equation :
K =PAeEaRT js

(1) Collision frequency

(2) Steric factor

(3) Pressure

(4) Product concentration

The ionic strength of 0.25 molal
K,S0, solution is

{1) 0.25 (2) 0.50
(3) 0.95 4) 1.0
In the Ohs_ager equation :

82.4 8.20 % 10°

A‘m . l::, - L:DT)IIE m i {DT)IQ }1‘:1}\,6:
the first and second term in the bracket
are respectively the measure of
(1) asymmetry effect

electrophoretic effects.
(2) both for electrophoretic effects.
(3) electrophoretic effect and
4

asymmetry effect.
both for asymmetry effect.

By -plotting ~ log v, against @ the

slope of the line for uni-bivalent and

bi-univalent electrolyte will be

(1) 0.509 () 3x0.509
(3) 4x0.509 ) 2x0.509

and

05
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o atfpar Frefatan s fam = 1em
Il &

_—i[tél= k [A] [B]? [C] T8 affpr o
eE YR Fisaa [A], = 0.001 M,
[B], = 0.04 M &R [C], = 0.04 M & o
g | 39 tfuleEr $ st wife gt

(1) 4 )

(3) 2 4 1

2 %1073 M HC/ faes S pH IO &
(1) 6.0 (2) 3.3

(3) 2.7 4) 1.5

Frtfifian an e sifibared 9 K, 70
g '

Fe'' g € ==Fe¥ | E°=+077V

2 — 5 - -
(1) 001V @ 153V
(3) -1.53V 4) 230V

e frefafea sifufearett = el
Uit fear T 8t

Cigy*+ Oy = COypy AH =—393.5kJ
COygy + Y% Oy gy = COy ) AH=-282.0KJ

MR T AH T it »
C(S}+‘,-_‘étlzlzg}—ﬂi;?{;)@I AH=?
(1) -675.5kJ (2) 111.5k}
(3) —-111.5kI  (4) 675.5kJ -
.ﬁG=.&I—I+T(—(—M§f) g
- P
(1) Frres-ggm g

(2) FARA-FARTITT GHIEHT
(3) Frev-geueivest gHimoT

(4) THEE e

~AA =W, FHET HHRE A §
(1) fires g o=t

(2) EovRieesT Oo Sl

(3) sivewam fertis

(4) mferg FR=F
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A reaction obeyed the rate law :

:%[%12 k [A] [B]? [C], The reaction was

studied by taking imitial concentration of
[A], = 0.001 M, [B], = 0.04 M and
[C], = 0.04 M. The apparent order of the
reaction shall be

() 4 2) 3

3 2 4 1

The pH of 2 x 1073 M solution of HC! is
(1) 6.0 @ 33

3} 27 (4) 1.5

What will be the E:eu‘ from following
half cell reactions ? o
Fé*(aq) +e = Fez"{aq) E°=+0.77V
Z“2+(aq) +2¢ ==1Zn, E°=-076V
(1) 001V (2) 1.53V

(3) -1.53V 4) 230V

" Find the AH of following reaction :

Cit 72Oy — CO(S') AR SE
The enthalpy changes of following
reactions are given ,
Cis) t Oyg) = COyy AH=-393.5Kk]

(1) -675.5kJ (2) 111.5kJ
(3) —111.5kJ (4) 675.5k]

aG=&H+TG‘%"‘T§1)P is

(1) Gibbs-Duhem equation

(2) Clapeyron-Clausius equation
(3) Gibbs-Helmholtz equation
(4) Kirchoff equation

In the equation :
— AA =W __, the function A is
Gibbs free energy
Helmholtz free energy
Boltzmann constant

Arrhenius function

(1)
(2
()
4)




88.

89.
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Frfefaa o @ =9 o1 ey 1w % fow
gugrEt ueHH o dgidt ufted= aa € 2

P] T2
(1) Rin (;,—;] @) Cpin|g

(T vy
(B) Cyin (T_J (4) Rin [V_J

25 °¢; WchﬁNH@H 2 serliianor
=t Gl vt
(1) -57.32kJ (2) -51.34kJ
(3) —61.34KkJ (4) +57.32k]
a@q%a’rﬁuﬁaﬁﬁw&%
(1) wiaferasdr
(2) wfafset fifom womes
(3) HE-¥
(4) ¥ ¥ B T
AVHR TIH A W w9 H
ﬁ:ﬂfﬁﬁﬁﬁ%@twﬁwﬁlﬁ%?
(1) afaa
(2) wiafa
(3) ¥y
(4) weit SR A
=t @ | e MW E € 2
H\C—"Cf | H\C/;C!
(1) I (2) %
C
Y
Brr; \CJ - Cl Br
CH CH
3\C}3r 3\CfH
(3) i (4 I
/C\ | /C'\
H ©l Br ¢
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Which of the following gives entropy
change of an ideal gas for isobaric

process ? :
T
2y Con 'ﬁ

P
(1) Rin|=

T \
3) C In[ 2] @ R [;f-)
|

“The enthalpy of neutralisation of HC!

by NH,OH at 25 °C will be

(1) —57.32kl (2) -51.34k!
(3) -61.34k] (4) +57.32kJ
The two

gauche conformers of
n-butane are ' -

(1) enantiomers

(2) diastereomers

(3) meso-form

(4) None of these

Most ethane molecules naturally
exist in which of the following
conformations ?

(1) Eclipsed

(2) Staggered

(3) Skew

(4) All in equal amount

Which of the following has
E-configuration ?
H C/
Hy C/G | o
a @
B | C
% & %
Brf cl Cl Br
CH 0, |
3\C}:31‘ 3\C M
(3) I (4 Il
c
|
B o Br
05
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94,

95.

as

Tl 3Ty % YT ¥ uh-gw 7 uRafaa
feram = & 2

(1) Toar woeas
(2) AR aamEge
(3) Hequim guEgg
(4) ST i SR Swaoi anEe

AEFiRTd & Frefafea fea dwd o
aaﬁnmfaﬂaﬂuﬂ?mmaﬂvﬁ:rqa
et fagfa &2 -

(1) TH
() ez

(2) e gt
(4) =

sl ;

H3C’Q + CH2C' +

O
- EtOH

H,N (CH,Cr—2= A

A
g IUTAE -

(1) H,C CHO

(2) HyC N(CH3),

< o%l

() HC CH,NHCH,

4) H,C CH,N(CH,),

<1<
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23.
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Which of the following isomers is/are
inter-converted by rotation about
single bond ?

(1
(2)
(3)
4

Configurational isomers
Geometric isomers
Conformational isomers

Both geometric and conformational
isomers

Which of the following conformer of
cyclohexane has highest energy barrier
with high angle and torsional strain ?

(1} Chair (2) Half chair
(3) Twist boat (4) Boat
In the reaction :
H3CQ + CHZO +
1 :

@ EtOH
HZN (CH3)2CF_ T A

The major pmduct Ais

(1) HyC~ HO

=

(2) HiC N(CH3),

CH,NHCH;

(3) HiC

(4 HiC CH,N(CH3),

pibebe




O

96. + BrCH,COOCH,

() Zn , H80, _ (1) Se/A

y C

(2) H,0" A (2) H,0
Sqie afrfear § SR C ¥

CH,COOH

CH,COOCH;

(3)

4

IR e, Frefefaa & @ few
T aAfifear @ sEIT ¥ 2

\ (1) Shrt sffshar

(2) UeSr Haa

(3) e afafemar

(4) Wt guT

GG

KOH, A
g
~“H0

98. Frfefaa § & BF W SR SRS &
tHifek TReEERT % WY wiiean tHide
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96.

97,

98.

G-

+ BrCH,COOCH,
(1) Zn A H)S0, (1) SeA
(2) H,0* A (2) H,0

The product C in the above reaction is

(1)

~ The above reaction is an application of

which of the following reaction ?
(1) Cannizzaro reaction

(2) Aldol condensation

(3) Perkin reaction

(4) Stobbe condensation

Which of the following products is
formed on condensation of furfural
with acetic anhydride in presence of
sodium acetate ?

(1) Furan

(2} Furoic acid

(3) .Furylacrylic acid
(4) Furoin
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frfafae 4 @ == & afafsa o=
a2

(1) UestE o

(2) PR sffmar

(3) wi-er Erfafsmar

(4) fafer e

: @\CHD — R @L?ﬂ_ﬁ_@

OH O
Iutte Al Fafafea @ feee
ST € 2
(1) oSl d
(2) S=ifea Hu

(3) SRt sifuferar

(4) Tfasier arfufen

TR e B BHEE TS Rk
T & w9 g erte i Beafafy &
(1) TR A :

(2) SRS wfaw

(3) AREECIE AreTE

(4) e wioenes

C,H,OH

Cu 3ot “a

+
2CH N,HSO;

A + 2N, + 2H,S0,

HAMTHa d SR A &
NH,

0 ©Q

21

99.

100,

101,
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Which of the following reactions is a
disproportionation reaction ?

(1) Aldol condensation
(2) Cannizzaro reaction
(3) Mannich reaction

(4) Wittig rearrangement

U\CHO KCN/EIOH @_ g[:{_ E@

The above reaction is an application of
which of the following ?'

(1) Aldol condensation
(2) Benzoin condensation
(3) Cannizzaro reaction

- (4) Knovengel reaction

The' mechanism of coupling reaction

of diazonium salt with phenol and
aromatic amine is

(1) Electrophilic addition
(2) Electrophilic subsitution
(3} Nucleophilic addition
(4) Nucleophilic substitution

In the reaction :
- C,H,0H
2C HNHSO, ————
4 Cupowder
A+ 2N, + 2H,80,

The product A in the reaction is
NH,

(1)
OH
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TEEH H IGO0 A § 7

(1) fremee

(2) THH
(3) AEEH-6, 6
(4) qiferafaeaetree
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103.

104,

105.

106.

The main product of the reduction of
nitrobenzene in neutral solution with
zinc dust and ammonium chloride is

(1) Aniline

(2) Azoxybenzene
(3) Azobenzene
(4) Phenylhydroxylamine

When an arylhalide is treated with the
very strong basic amide ion in liquid
athmonia, it is converted into aniline.
The intermediate in the reaction 1s

(1) Benzyne

(2) Phenyl cation
(3) Phenyl carbanion
(4) Free radical

In the reaction:
, CH;
NO,
4 (NHHS @/ SnClyHCl
NO, :

The products A and B, respectively are
(1} 5-nitro-o-toluidine and 3-nitro-p-
toluidine,
(2) 3-nitro-p-toluidine and 5-nitro-o-
- toluidine.

3)
4

both 5-nitro-o-toluidine.
both 3-nitro-p-toluidine.

Which of the following is not an
example of step reaction
polymerisation ?

(1) Glyptal

(2) Dacron

(3) Nylon-6, 6

(4) Polymethylmethacrylate
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109,
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111,

112,
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Frefafas & @ =8 W w9 IwwgdEsE
TgeTeh o FIT WET R & 2 '

(1) =¥ fafaw vrarafe s @i g )
(2) emnfEd dges o € |

(3) geTeh o Feu HE ol R st € |

(4) dge® o Iod Ocd Ue I TeliH
B e | _

frafefaa § & S5 o ufoeET g
Hivy =1 TR & 7

(1) AREMEgH

(2) ST

(3) wFmwlas

(4) Tfee

frafafan & ¥ o= o oo S
TR R &2

(1) FERBFeRer

(2) uftafafer

(3) uniferafatem

(4) offafersit

frafofea o @ 9 o sfwy sfakhie
= HY A § 2

(1) TRfaer (2) dferaw
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(1) Cyy (2) Cyy
(3) D;h (4) Ty
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107.

108,

109,

110.

111.

112.

Which of the following statement is

incorrect - for co-ordination

polymerisation ? ,

(1) It does not have stereo-chemical
control.

(2) Unbranched polymer is formed.

(3) Polymer has high degree of
crystallinity.

(4) Polymer has higher density and

higher melting point.

Which of the following is an example
of anti-fertility drug ?

(1) Norethindrone

{2) Bithional

- (3) Iproniazid

(4) Phenelzine

Which of the following is not a broac[
spectrum antibiotic ?

(1) Chloramphenicol
(2) Ampicillin
(3) Amoxyecillin
(4) Penicillin-G

Which of the following drug acts as
antihistamines ?

(1) Equanil
(3) Serotonin

(2) Valium
(4) Seldane
The point group symmetry of BH, is
{1y 5 @) Gy,

(3) Dy, 4) T,

Which of the following statements is
incorrect for n-butyl lithtum ?

(1)
@)
(3)
(4

It is hexameric in the solid.
Used as polymerisation catalyst.
Used for alkylation.

Used for synthesis of vinyl and
allyl lithium.




113.

114.

115.

116.

20Bi i @i 31Cr ¥ SHER! HT WA
AT 317 W) T (super heavy element) &
(1) Unh (2) Uns
(3) Une (4) Ung

wen SR ey -

E+S8 E‘%Es, ES —]rcb—m

§ TTEH W Ghel S WE &
k

(1) k;fka) [E] [s]

@ iz k.,] [E] []

@) k;“kJ [£] [S]

’
8

@ i kb} (E] [S]

YR SEA-99Ue¥ NaOH, NaCl 3R
BaCl, W HWiq e Sehald wek
248.1 x 1074, 1265 x 1094 &R
280 x 10~ Sm? mol™' & T Ba(OH),

Eql l;, Sm? mol-! H &
(1) 401.6 x 107
(2) 5232x10°%
(3) 776.2 x 1074
(4) 654.6 x 107

Frefofad § | B9 W 9 SE-AEET
vt % T et @ 2

(D Hﬁ?ﬁh‘{ﬁ'ﬂ%‘l

(2) Ve WRuETE T E |

3) Tt 2 9 o B AT O S E o
(4) u Ty el % g0 WHR & |
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113.

114.

115.

116.

The super heavy element made by
209

is

bombarding ‘.;'Bi with accelerated g:Cr
(1) Unh (2) Uns
(3) Une (4} Ung

In the enzyme-catalyzed mechanism :

ka kb
E+S k‘——réES, ES—LP

the concentration of enzyme subsirate
complex is
- ( kb

M ik ] [E] [S]

(2) k;lff‘kb} (E] [S)

k

a

® (i kb] (E](S]

o)
@ |7 B8]

For the strong electrolytes NaOH, NaC/
and BaCl, the molar conductances

at infinite dilution are 248.1 x 1074,
126.5 % 104 and 280 x 10* Sm2 mol™!

respectively, then :‘..; for Ba(OH), in
Sm? mol™! is

(1) 401.6x 10~

(2) 523.2x 10~

(3) 776.2x 107

(4) 654.6% 104

Which of the following statements is
not correct for Joule-Thompson’s
experiment ?

(1) - Process is adiabatic.

(2) Process is not isenthalpic.

(3) Lower temperature is cbserved on
* low pressure side.

(4) The gas expands through a porous

barrier.
05
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118.

119.

05
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(1) ;ﬂnqﬁanwﬁrwwﬁmm
; _

{2)%%&%11%@14{5%@
HEFHOT HEe & |

(3) oy 7 e @ 2 |

(4) T It T fRmr o
STTEHITT SHTAT &

L,
0

IR A &

OR
"X
(@]
@ O—coon
G .
o (I
([.F-OR
O
(4) D—OR
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117. Which of the following statement is

118,

119,

(3

correct for SNi mechanism ?

(1)

The first step is dissociation into
an intimate ion pair.

(2}

In second step the ieaving group
attacks from back side, _

There is inversion of
configuration.

(4)

An external nucleophile attacks
the substrate,

L
O

The product A is

OR
e

(2)

+OR — A

o

COOR

c

o (X
C-OR
0

4 [::}-OR

The thermal cyclisation of trans, trans-
2, 4-hexadiene gives

(1) only trans-3, 4-Dimethyl-cyclo
butene :

(2)
(3)

Only cis-3, 4-Dimethyl-cyclobutene

both the above products in equal
amount

Cyclo-hexene

(4)
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120.

121.

122.

3

123.

124.

Which of the following statements is
correct for NMR  spectrum of - iso-
propyal bromide ?

(1) Absorption by six methy! protons
appears up field.

Absorption of lone proton appears
upfield.

Absorption of lone proton splits
into quartet.

2
3
(4)

Absorption of six methyl protons
splits into quartet.

Which type of changes of behaviour is
learning ?

(b
(2)
(3)

Changes through fatigue
Changes through taking medicine

Changes through Practice and
Experience '

(4)

Changes through disease

Which is not the objective of memory
level teaching ?

(1)
(2)

Training of mental aspect.
To give knowledge of facts.

Perception of meaning
understanding of thoughts.

Rememorise and Representation
of knowledge.

and

4

Who says “Learning is the
modification of behaviour through
experience and training” ?

(1) Cronback

(2) Kimble

(3) Skinner

(4) Gates and others

- Who is the author of the book “The

conditions of learning™ 7
(1) Ausubel (2) Gagne
(3) Thomndike (4) Skinner

05



125, Fefeifan § @ =9 @ fwmwr st
e Tomaeeer ateren s E ¥ 7

(1) e

(2) e

(3) aferm srpEt B wa
(4) wifrars whimand

‘vt 98 gmg ¥ faad faemafe
SHieRT FTeATaT ¥ GRS S AT WeHHuT
e & forae =R 2

(1) =Riee
(3) feperdfcem

126.

(2) e T
(4) HieTar®

Rl e ®t 15 3wEr 16 a9 @
AT H ATGTSR ST 9K oRNRT a1 7 8
ST E 7

(1) 800 & 1000 T/
(2) 1000 ® 1100 wH
(3) 1200 % 1400 W
(4) 1500 ¥ 1700 a9

127.

128. goferd sifva
L SN SN AR a1 ¥ 2 Ed
II. @RS H EE b 09 1 a6
11 U&S ST T c. 1391879

1v. ST m gfiem d. 395 o

R
HT:,

1 mnm 1 1w
Ha b ¢ d
(2) b c d a
3) b a d c
(4) ¢ d a b
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125. Which i1s not the task of interactive
phase of teaching ?

(1) Perception
(2) Diagnosis
(3) Selection of learning experiences

(4) Reactive processes

126. Who says “Adolescence is a period

which a growing person makes
transition from childhood to maturity™ ?

(1) Jersield (2) Stanley Hall
" (3) Kilpatric (4) Kolesnik

127. What is the approximate weight of

brain in 15 or 16 years age of
Adolescence period ?

(1) 800 to 1000 gm
(2) 1000 to 1100 gm
(3) 1200 to 1400 gm
(4) 1500 to 1700 gm

128. Match the following :

I. Trust vs Mistrust a. 1-2 yr.
Stage .

II. Autonomy vs Doubt b, 0-1 yr,
Stage '

I1L. Initiative vs Guilt c. 13-18 yr.

1V.Identity vs Role d. 3-5yr.
conflict :

Codes :

I I ur v

(1} a b ¢ d

(2) b ¢c d a

(3) b a d c

4) ¢ d a b
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129.

130.

131.

132.

133.

The fifth stage of Kohlberg’s theory of
moral development is known as

(1) Obedience  and
orientation.

punishment

Individualism and exchange.

(2)

(3) Maintaining the social order.

(4) Social contract and individual
rights.

According to Havighurst which is not

the  Developmental  work  of

Adolescence.

(1) To accept the physical structure of
self and use it effectively.

To accept social responsible
behaviour and achieve it.
Te develop healthy
towards self.

To get the emotional freedom
from parents and adults.

2)

(3) attitude

S

Which is not the component of
emotional intelligence ?

(1) Emotional perception
(2) Emotional integration
(3) Emotional learning
(4) Emotional management

Out of the following group of
Psychologist which is the completely
correct group related to classical °
cognitive theory 7

(1) (Wertheimer, Bruner, Bandura)

(2) (Wertheimer, Kohler, Tolman)

(3) (Koffka, Ausubel, Bolles)

(4) (Tolman, Bruner, Bandura)

Which ~ group of  Psychologist
concentrate ~ on - observable and
measurable behaviour ?

(1) Behaviourlist (2) SEructuralESt
(3) Functionalist (4) Gestaltist
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134.

135.

136.

137.

138.

139,

In which principle of learning teacher
play their role as facilitator ? -

(1) Behaviourlist principle
(2) Constructivist principle
(3) Cognitivist principle

(4) Psychoanalyst principle

Which is not the area of Balanced
Adjustment ?

(1) Good physical health

(2) Emotionally balanced
(3) Demands for attention
(4) Work efficiency

Who is the initiator of Mental Hygiene
Science ? .

(1) Headfield
(3) Johns

(2) Ladell
(4) C.W. Beers

Which is not guidance ?
(1) To indicate

(2) To point out

(3) To show the way
(4) Solve the problem

When person have two positive target
but he is not in position to achieve
both of them, then this conflict is
known as

(1} Approach-Approach Conflict

(2) Avoidance-Avoidance Conflict

(3) Approach-Avoidance Conflict

(4) Dual Approach-Avoidance Conflict

“According to ‘cole’ pre adolescence

period for girls is

(1) 11to 12 years
(2) 12to 13 years
(3) 13to 14 years
(4) 15to 16 years
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140.

141.

142.

143.

(4)

Match the following according to
types of Barrier of Communication
with their examples

Types of Barriers Examples
I. Physical Barriers a. Pre  work
: conditions
II. Language Barriers  b. Prejudice
I11. Psychological ¢. Unnecessary
Barriers words
IV.Background Barriers d. [ll health
Codes :
] im m 1w
(1) a b c d
2) b ¢ d a
3) d ¢ b a
4 d ¢ -a b

What is not under the category of

“ information processing model out of

following ?

(1) Inductive Thinking Model

(2) Inquiry Training Model

(3) Social Inquiry Training Model
(4) Concept Attainment Model

Who is the inventor of Advance
Organizer Model ?

(1) Glaser

(2) Bruner

(3) Jean Piaget
(4} David Ausubel

What is Aims and Application of
Scientific enquiry model ?

(1) To develop inductive reasoning.
(2) To develop mental activity.

3)

To develop individual competency
for getting social objectives.

Logical thinking on the basis of
information collected. -

0s
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144, Whenever a student interact with a
1 Th T SO & & = iy mreel computer which is already installed with
TfRef ¢, 95 uRear SEed & useful learning material is known as
(1) e 95 AhrH (1) Computer assisted learning
(2) & we fmgor (2) Computer assisted teaching
(3) FFI TF SR (3) Computer assisted instruction
(4) I UF HATRR {4) Computer assisted behaviour
T I ﬁ'mqm ufanE ¥ weds 145. Who is the inventor of Computer
e SR Based Teaching Model ?
RS (1) Flendars
(:]2) (2) Glaser
(2) TR (3) Carrol - -
(3) * (4) Lorense Stuloro and Daniel Davis
(4) R R e e 3w
P SRV a-iten! A T T2 146. Who is not related with instructional
(1) §R (2) TR E?;hnglogy ? -
3 mﬁa‘__[ 4) MR runer Glaiser
@) ) (3) Ausubel (4) Morrison
QiFEaT Tt o gfares i § 2 147. Who is the exponent of software
(1) TU =T technology ?
(2) dtuw faax (1) A.A. Lumesdan
3) TR (2) B.F. Skinner
' (3) Bruner
(4) A (4 Ausubel
I T TOTTH SUFTT T 98 1 & 9 148. Which is not the step of system
(1) W Rerestor approach ?
(2) WOTeR SR U R (1) System analysis
8 < A (2) System design and development
3 IR O He (3) System operation and evaluation
(4) wromiet SiteRReT (4) System classification
T SIUTIEA Sl e WofesT 761 ¢ 149. Which is not the basic parameter of
(1) ¥ (2) s i -
5 npu rocess
@) ) I (3) Machine (4) Output
H Wt Sieaay aewt F1 favmer 78 | 150. Which is not the characteristic ‘of
&0 Software Technology ?

: (1} Ttis Soft Technology approach.
(1) 3% Hoe Tt ST ¥ | . (2) 1t is also known as Instructional
(2) =9 TR qhAH o T o Technology.

3) mmﬁﬁﬁm‘ﬂﬁﬁﬁ% | (3) It is also known as Educational
Technology first.
(4) IS A mqqﬁf‘am:r T (4) It's main base is Psychology
31 ' o
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